	
	Core Section 1 – Food Chains and Webs
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	Q5
	(i) C and D                  (1)

(ii) A, B and E              (1)

	
	Core Section 2 - Photosynthesis

	Q1
	A         (1)

	Q2
	C         (1)

	
	Core Section 3 – Nitrogen Cycle and Impact of fertilisers

	Q1
	Micro-organisms, nutrients, plants                                                                                All 3 = (2)      2/1 = (1)

	Q2
	Algal, oxygen, decreases                                                                                                  All 3 = (2)      2/1 = (1)

	Q3
	(a) 60%, 14%, 8%                                                                                                                                         All = 1
(b) Bags = Size of bags / what bags are made from                                                                               (1)
Leaves = Same type/species of leaves , Same mass of leaves                                                       (1)
(c) All decay to occur                                                                                                                                   (1)
(d) To allow the cycling of nutrients/ prevent build of of waste                                                           (1)


	
	Extension Section 1 – Food Chains and Webs
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	Extension Section 2 – Photosynthesis & Respiration

	Q1
	(a) Carbon Dioxide       (1)
(b) Oxygen                     (1)

	Q2
	(a) Carbon Dioxide + Water    (1)                 Oxygen + Glucose       (1)
(b) Oxygen , Water                                                                                          Both = (1)

	Q3
	(a) Oxygen , carbon dioxide     Both = (1)

(b) Bacteria / fungi    (1)

(c) 

	
	Extension Section 3 – Nitrogen Cycle

	Q1
	A                                                        (1)

	Q2
	A

F

G                                                                                                                                           All 3 = (2)      2/1 = (1)


